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Sous-modeéle

de mortalité

Le terme linéaire devrait se lire comme suit :

X;; B = —1.6420 +

183,AUT
ﬁS,BOP

183,ERR
183,MEL
ﬂ3,PEU
ﬂS,PIG
IBS,PIN

i ﬂl,AUT =3.6745 |
B gop = 0.0406
Breex =—2.6181
Bierr =9.7590
Bi e =—2.8567
B pew =3.9230
Prpc =0.3695
B =5.8997

By eex. =0.0098

_ﬂS,SAB = 0-3661_

ﬂl,SAB =0 A

=0
=0

=0
=0
=0
=0
=0

«TBE, xIn(At, )+

+0.1229x dhp;;, +

ﬂ4,ERR

—:BZ,AUT =-2.9907 |
Bagop =—1.6948
B epx =—0.8280
B erg = —5.6442
B, e, =—1.1666
B pey =—3.0258
Bopc =—2.1765
Bopn =—3.7540

i B aor =0.0445 ]
Pasop =0.0227
Baeex =0.0208
=-0.0288
B, e, =0.0053
B vey, =0.0257
Bapc =0.0790
Papn =—0.0294
Passae =—0.0103

i Poswe =—1.3128 |

x STP,,

x In(dhpy )



